—
D

HEX BOLT 5/8”-11X3 1/4”

—
©

HEX BOLT 5/8”-11X2 1/27

—
~

BUTTON HEAD RIVET

—
o)}

HEX BOLT 5/8”-11X5-1/27

—
ul

EDUCTION TUBE

.—
~

HEX BOLT 5/8”-11X3 1/4”

—
W

HEX NUT 5/8"-11

—
n

SEGMENTED WASHER 4 1/2°X6 3/4”

—_
—_

SEGMENTED WASHER 7 1/4°X9 3/4”

SEGMENTED WASHER 25"X29 1/2”

BLIND FLANGE

SPIDER PIPE GUIDE

EYEBOLT ASSEMBLY

LOADING COVER

QUICK INSPECT SAFETY VENT

BLIND FLANGE

DOUBLE FLANGE

n|w|~|u|o|N|o|wv|S

PIPE TEE

FITTINGS FLANGE

gl

PART NAME

HYDROCHLORIC AND SULFURIC ACID
TANK CAR VALVES AND FITTINGS

a | P

|
i SALCO PRODUCTS, INC.

H 20 W 201 101% St., Suite A + Lemont, IL 60439
(630) 783-2570 Fax (630) 783-2580

22311 Hufsmith-Kohrville » Tomball, TX 77375

(281) 351-0274 Fax (281) 351-1514

CONTINUITY TESTER

33

FRA APPROVED REFLECTIVE MATERIAL

32

HINGE BOLT ASSEMBLY

31

/‘ il N

BUTTON HEAD RIVET

30

EYEBOLT ASSEMBLY

29

PLUG ASSEMBLY 1”

28

FLANGE GASKET 2°

27

FLAT WASHER 5/8” SAE

26

HEX BOLT 35/8”-11X3 1/4”

25

HEX BOLT S5/8”-11X2 3/4”

24

SURGE PROTECTOR ASSEMBLY

23

QUICK CONNECT

ee

FILL HOLE COVER

21

FITTINGS PLATE

20

PART NAME

NO.




Sulfuric Acid Tank Car

Number Description Salco Part #
20 Fittings Plate E15560
21 Fill hole Cover E15546
22 Threaded Assembly TE20S75QDLF0106A
Threaded Assembly TE2SU75FS106A
Threaded Assembly TE2SUFDS106A
Threaded Assembly TE2SUFS106A
23 Surge Protector Assembly C16514
24 & 25 |Hex Bolt Call Salco
26 Flat Washer Call Salco
27 Flange Gasket 2" Call Salco
28 Plug Assembly Call Salco
29 Eyebolt Assembly Call Salco
30 Button Head Rivet Call Salco
31 Hinge Bolt Assembly Call Salco
Miscellaneous
Number Description Salco Part #
33 Continuity Tester HSCT1000

HCL Tank Car Parts
Number Description Salco Part #
1 Manway Cover FP201RLB
Tee TQI1RLB
2 Tee TQ2RLB
Tee TQ3RLB
Tee TQ4RLB
Double Flange DF388475RLB
3 Double Flange DF475775RLB
Double Flange DF556RLB
Double Flange DF5575RLB
489 Blind Flange BF475RLB
Blind Flange BF550RLB
5 Quick Inspect Safety Vent Call Salco
Loading Cover LC901RL
6 Loading Cover LC903RLB
Loading Cover LC904RLB
7 Eyebolt Assembly Call Salco
8 Spider Pipe Guide TCPGO001BR
10,11 & 12 |Segmented Washer Call Salco
13 Hex Nut Call Salco
14,16,18 &19 |Hex Bolt Call Salco
Adapter Plate AP475625RLB
Surge Protector DSP1058RLB

Fasteners:

All size fasteners are available upon request.
Teflon coated fasteners are also available.
Call your SALCO Representative for details.

Gaskets:

SALCO offers a full line of gaskets and gasket materials

Call your SALCO Representative for details.

Number Description Salco Part #
15 Eduction Tube HS234EDTFLP

Eduction Tube HS23EDT110
Eduction Tube HS23TB107
Eduction Tube HS23TB115
Eduction Tube HS3EDT103
Eduction Tube HS3EDT110
Eduction Tube HS3RTB136
Eduction Tube HS3TB107
Eduction Tube HS3TB115
Eduction Tube HS5DT103
Eduction Tube HS5DT110
Eduction Tube HS5EDT103
Eduction Tube HS5EDT110
Eduction Tube HS6DT103
Eduction Tube HS6DT110
Eduction Tube HS6DT72
Eduction Tube HS6DT72LP
Eduction Tube HS6EDT103
Eduction Tube HS6EDT110
Eduction Tube HSDT103
Eduction Tube HSDT110
Eduction Tube HSDT23110
Eduction Tube HSRDT130




